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HanMeimei. Say

ByeTo (LLiHei) ;

Girl HanMeimei ;

LLiLei. ShowLoveTo
(HanMeime1i) :

If(LiLei.
HasHouse
AndCar ()

HanMeime1i. Say

HiTo (LiHei) :
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//BANBEWZEE
Boy Lilei;

[/ BA LB Mg

Girl HanMeimei:

[/ BEMZBRE
LiLei. ShowLoveTo (HanMeimei) ;
[/ ZBI BERHITHER
if (LiLei.HasHouseAndCar () )
{
//MBEREXEBE, L5583 4%E
HanMeimei. SayHiTo (LiLei) ;
}
else
{
//REBE, N5 BEFERE
HanMeimei. SayByeTo (LiLei) ;
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//2 1.cpp
#include <iostream>

using namespace std;
int main() {

cout << “Hello!” <K endl'

cout << "Welcome to c++!”
return O:

}

BATE R
Hello!
Welcome to c++!

<< endl;
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#include <iostream>
using namespace std;
int main() {

A5 B e const int PRICE = 30;

~int num, totall
E/Iﬁf:ﬁﬂa\\\\\*float v, r, h;

num = 10«
_ total = num * PRICE:
A e cout << total <X endl:
}

= 2.5:
h 3.2;
v = 3. 14159 ¥ v %k 1r % h;
cout << v <K endl;
return O;
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-?‘é R 7R int num, tota_,
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= int o lciout2<§ total << e W] [+]0~9
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Sl |07 . v = 3.14159 * r * [NRErSE
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S KK long 32 —231~ (231-1)
2 g 64 —263~ (263-1)
o Fmy
2=  unsigned short 16 0~065535

o unsigned [int] 32 0~ (232-1)

‘ unsigned long 32 0~ (232-1)
= 64 0~ (264-1)
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#include <iostream>
using namespace std
int main() {

« BRI\ ANdouble?
J54 F (8 1)

const int PRICE =

| , 1;
o onl A

num = 10; N long double

total = num * PRIEE
cout << total <K ¢
= 2.5

3.27 3
v = 3. 14159*1/§/;/; -
cout <K v <K
return 0;
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int a = 3;
double f = 3. 56;

b

char ¢ = 'a’:
int c(b):
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float c;

int a, b;

c = float(a) / float(b):

oy ¢ = (float)a / (float)b:
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const float PI = 3.1415926f:

const float PI: //4& Liwiasik,
PI = 3.1415926f; //44! & EAGEMRIE

27



AT FRIAS

%Jﬁi T%ﬁﬁﬁ%ﬁﬁfiﬁ
7N =% (.

A Bt

%ﬁf\ff%ﬁ:’)(jﬂ

_A/\'—'—' ‘k—:* Xj‘% /:M;/\ /El/v/v =
%a%xf”;@%$%£§%E

Ji0
maaias
I |

N £_>
emm gk

B
dIT
i 1
Saf o
e
A\
=

@
>
=0
BK-HL
Ji0
=
Wit
>k

H P
=
i

|
S
Z6:
el

28



RS

SEERRERNEHE, BN
BHH BH R
ﬁggwﬁr%ﬁ_*“ﬁr<ﬁf

&? igfﬁ%ﬁﬁ 2HA
C+ +i§* HENX TEEWBERF
HARBESF. RABEST. BHIEELT
BEAEFENEFZESEEHE
&M BERA, BARA

® T
A
G

%ﬁ%%ﬁ%



oo B o

]

j

O

S

H b

FHARZHITSIHANARIAK

HAFRBERF
bk GEROMURRR, 4R
% (LA, $RAEHOTERD

AR5 S
Jogelr, EInE, FEBE LA
+, — (H#¥. BHED
Bil: it+; —J;
cout << i++;  // FiHiHEEIME

cout < ++i; // BHiBEYERE

30



RE G TE R IA
RS ey R TR T ="

25151
n=n-t+31H
FRIR A RA
= Seyasub g ki

FiEAHE
F 5N R EEAE R FE

Zatt: BAMAE




S RKIEZ TS
7%‘10$[PEA£§?1’:-
+_a —, /_ %_
<<=, >>_, &_, "= =
mEedk5“="F, SE&HEtEREARL
il
a+=3 EEMTF a=2a+3
x =y +8 FMTF x=x% (y +8)

32



[ o 2 o i

O

S

H b

o oo o 9o

—— R TE R A S AP
= 5 RKIXTUE NS
= b =c =05 FREFAMENS, a,b, cIN5
=5+ (c = 6) FKENENIL, aNll, cH6
= (b =4 + (c =6)
FKIEAXAEN10, aN10, b4, cH6
= (b =10 / (c =2)
FisAME N5, aNb, bN10, c N2
t=a —=a*a T a=-a+ (a=a-a* a)

33



3B BT WA E S RIR

EEWE—NMaERF, BN

RIEL, RAT2
KRNI F 55 5
SeRMEL, FRE2, AR ANFIEAR
2H)1E
IR, SEeaHE ARG
il

a=3%5 a*4 mwEAGEENG

34



oo B o

]

j

a

S

H b

RREZEWEFTRFRIAX

RABHE B RN —MEZEEH, Lk
VGSE
< <= > >= == | =

— __

TR (B G (K

RAREAR — R EAEEREN

HAEFRLBMK bool, {HHREEN true i false.
Mim: a>b, c<=a+b, x +y ==

35



BARIZTW E5ZBRRIAN

B W

ldp)  &&(E) || &)
MEXRF: & — 3%
BRIk R

Blin: (a > b) & (x > y)

/

LA RARAAN bool, [HRBEN

true BY false



oo B o

]

j

S

H b

BARIZTW E5ZBRRIAN

R B
KiERK1 && FIAERK2
Je R iR IA 71
eI A E Nfalse, MHRALEHEN
false, HEKRAEREI2
e ik NS N true, NISRERIER2,
PLRIA 21 45 RAE N A 45 2R
“1 ”HJE?—?J R RetE

==b) | | (++c==1)




FHZEHITE FHRIAK

FaAz01 2 RIAF2 ¢ FRIAF3
RIEAL WAiZE bool KA
PAT I P

- SeRERIE AL,
- AR IENIFME Ntrue, NSRERIER2,
RIATWME NI A4 R

- HRIA I HME Nfalse, NRERIEIS,

Tk SHWIE N B & 45
ofl: x=a>b?a:b:

38



e 8 8 e

O

S

H b

FHIZFHITFE FHRIEK

ER:
sFfrisfrr i sedom TIEER A, K
?ﬁ?iﬁﬁ
- Rk 2. SHISRBT UIARE, sffFRE

HmRARTy 2 M 3 AR 2R A

#Bl: x=a>b?a: b;

39



S|zeof =S

BER

sizeof (RAIA)
g, sizeof AR
255 A
“REL” PrIGEHRER “RER” W5R
KRBT ST
E

sizeof (short)

sizeof x

40



oo B o

]

j

O

S

H b

T i ——IntsS (&)

ey = 53 W]
A TR vy = = R S N VA oI X o AR 2
256: THH 3 & 5
3: 00000011
5: & 00000101
3& 5: 00000001
15
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N Ei=pE
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WMHalf &7, B TcH: ¢ = a & 0xff;

41



e

]

j

O

S

H b

HiEd—anmst (|)

eyt |
KM e JH =R — ML T & B A
2H0: 8 3 | 5
3 00000011
5: (D 00000101
5: 00000111

s
I3
ReR AT B, HARAAAL.

@lgn: ¥ int BAE a FRFTE 1 :
a=a | Oxff:

42



oo B o

]

j

O

S

H b

T —mtr 5= ()

iz E R

A ERAE R T 7 B
A X NALAHE, SR/ 0,
A X NALANE, WEER %N 1,

2/ THHE 0717052

071: 00111001
002: () 00101010
071 052 : 00010011

43



) W &

O

S

H b

i ——mmr i ()
J"Z!%

e B (5058 RFRE, 51
)
fltn: BAE 01111010 R PUL7EREE
01111010
(")00001 111

01110101

44



e

]

LR

=

I

a1,

TE— == ()

BHEA, M—AZHEH B AR .
7k

025: 0000000000010101
"025: 1111111111101010

45



oo B o

J/

}}EH

a

S

H b

T —B T

EgEHE (KO

IR )a, ARBLANO, RDLsE T

AgEHE O>)

VSN IEE

RAL: &3¢

L AT 54
AT EL:

A}
~0
A}

-8 >> 2 = 2

-8 : 11111000
-2 ¢« 11111110

AL

46



oo B o

]

j

O

S

H b

IEHTT UL

55

++, —, sizeof
*, /, %

+, -

Pria

&&

|

?:

R EIE Y
BE5EE

3§

47



oo B o

&

i

a

S

H b

R 3Ied I/ IS B 0 FE B
—IREFEHR

— LR BN (AARBHERF. RRBHEHA. &
BIZERF. MIBEFNREBER) ERWNER
VEB ISR AL — 3,

EERBHEMRRBHEFT RS 5EHFHRIER
REA—H, WiERG=EIIHIRELTRSR
(RIS HeH) , B4 RN R RSB B
NEREEE -

char, short, int, unsigned, long, unsigned long, float, double

3§ 5 51

48



e

i

a

S

H b

R 3Ied I/ IS B 0 FE B
—IREFEHR

U2 58 RRIEBULAIRZDbool BIF, WIRERE
BREBRA, &HiFRGESHINRKIFOBIRZRN
true, 0¥ Nfalse.
VIEHEFBREBUD R REE, B uMEHE#
VERRA R R BERT, thaEHarRAlR
¥,

BEEHERLESAEPNREMA, FREA
H, MIFERG=HINKAEFBRNEERRE,

—

49



e

]

j

O

S

H b

RGBS E I8 2L B n) F5 B

— 8 5 ¥
B (3FP) -
KIS A7 (A ) /) C++ R
(KT BA ) ik = // CRKE

RV WA AT CRA B R (RIEZ0)
RAVEHARAE LTI LLE -

const cast. dynamic cast.
reinterpret cast. static cast

5 TR B e e B 7 5 B K
R R B AE e

hl.

gl

LNH

1) < 1nt(z) (int)z, static cast<int>(z)

=FEE

50



&9

)

FHIPAT IR R

iE TR R,

9

FIEA]

7o B ]
Rk G H]
e R )
EIAE )
kA% 1 )
S E1E]
b5 )

TEA]R

Z | H e CHHY

o1



RIAATED)

‘ LS
& RIAE;
RIEFIER) 5 RAA R X A

. %%LEED DL A HAm Rk =0, 1
Ea) AR,

Wm if ((@a=b) >0 t=a;
AREN. if ((a=Db:) >0 t = a;




XE5IE9

B2 MEA]

7 R—AELEA (RIEAR)

Gl

{
9

1++:

sum=sum+1i :

] —X KFESH

SIfES
v

53



BRI,

—

FArER RS (Bads) H
. int x:

cout << "x=" < x:
MARERI A B (D) WA
. int x:

cin »>> X;

o4



A W

pa =

gill

&5

#3

P S5uY A IZH 549

- U

SE M

S

23

B2

/—&w

55



A W

pa =

&5

#3

ST AR R el ;7

BI2-2

BA—F M, ABTRESS

Al

56



#include <iostream>
using namespace std;
int main() {

int year;

bool IsLeapYear;

cout << “Enter the year: ”
cin >> year;
IsLeapYear = ((year % 4 == 0 &&
year % 100 != 0) || (year % 400 == 0)):
if (IsLeapYear)
cout << year < 7 is a leap year “ << endl;
else

cout << year << 7 is not a leap year “ <<endl;
return O;
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Enter the year: 2000
2000 is a leap year
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if (REFN) 1EH

. if (x > y) cout << x;

=T

if (RER) BEHJ1 else BH)2

fl. if (x > y) cout <K x:

else cout <K y;

if (Rixxl) EHL

else if (FRIAF

2) &)

else if (FRIAF

else i&H] n

W3) EA

Lo DN
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if(x = 3)
A

if(x == 3)
i) X 5]

3 == X

fabs (x—y) < fEpsilon
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#include<iostream>
using namespace std;
int main() {
int x, y;
cout << “Enter x and y:”;
cin >> X D> V;
if (x !=vy)
if (x > vy)

cout << “x > y” <K endl;

else

cout << “x < y” <K endl;

else
cout << "x = y” << endl;

return 0;
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Enter x and y:5 8
x <y

BTG R 2:

Enter x and y:8 8
X =%

BITHRS:

Enter x and y:12 8
Xy
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#include <iostream)
using namespace std:

int main() {

int day;:
cin >> day;
switch (day) {
case 0: cout <X
case 1: cout <X
case 2: cout <X
case 3: cout <X
case 4: cout <X
case 5: cout <X
case 6: cout <X
default:
cout << “Day
<< endl;
break;
}
return O;

}

“Sunday” << endl; break:
“Monday” << endl; break:
“"Tuesday” << endl; break;

"Wednesday” << endl; break;
“Thursday” << endl; break;
"Friday” << endl; break;

”Saturday” << endl; break;

out of range Sunday ..

Saturday”
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#include <iostream>
using namespace std;
int main() {
int 1 =1, sum = 0;
while (i <= 10) {
sum += i; //MHZTsum = sum + i;

1++:
}
cout << “sum = 7 << sum <K endl:
return O: BITE R -

} sum =55
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#include <iostream>

using namespace std:

int main() {
int n, right digit, newnum = O;
cout < “Enter the number: ”;
cin »>> n;

cout << “The number in reverse order is ”;
do {
right digit = n % 10;
cout << right digit;
n /= 10; //MZTn=n/10
} while (n != 0);
cout << endl;
return O;
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Enter the number: 365
The number in reverse order is 563
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do V&%) 2 ik T
while (FRIEZ)
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HHATIEIMEER], J5 R 21
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#include <iostream>
using namespace std;

int main() {

int 1, sum = 0;

cin >> 1i;

while (i <= 10) {

sum += 1;
it++;
}

cout << “sum=
<< endl:
return O;

" << sum é

)

- | > 107

B2

- #include <iostream>
. using namespace std;
; int main() {

N

int 1, sum = 0;
cin >> 1i;
do {
sum += 1i;
it++:
} while (i <= 10);
cout << “sum=" << sum
<< endl;

return 0:
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for (;;) i&H) //FHZFwhile (true) iEH]
RIBEF LR IEIA 12 5] KA
SRR R, AE X

PEARR BN EBAE. EYER]H
FHRZRE, RIEEF NG

for (int i = 1: i <= 100: i++)
sum = sum + 1:
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i%:tﬁz—ﬁ’iﬁﬁ TR ESEHZER
ﬁn%é%i%tﬁ:ﬁn:s, RERER2, Nxsesx

Fwhileiga]
for ( i<= 100 ;) {
sum = sum + 1;
1++;
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#include <iostream>
using namespace std;
int main() {
int n;
cout << “Enter a positive integer: ”;
cin >> n;
cout << “Number ” <K n <K ” Factors 7;

for (int k = 1; k <= n; k++)
if (n % k = 0)
cout <K k < ” 7;
cout << endl;
return 0;

J
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BATER:
Enter a positive integer: 36
Number 36 Factors 1 2 3 4 6 9 12 18 36

BITE R 2:

Enter a positive integer: 7
Number 7 Factors 1 7
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#include <iostream>
using namespace std;

int main() {
const int N = 4;
for (int i = 1; i <= N: i++) { //BHBE4TEZE
for (int j = 1; j <= 30; j++)
cout <<’ 7; / /B RAEMZ30%)]
for (int j=1; j <=8 -2 % 1i; j++)
cout << 7 7 ;
for (int j=1; j<&=2%i-1; j++)
cout << ' % ;
cout << endl;
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/ /5 JE 31T B R
for (int i =1; i <=N-1; i++) {
for (int j =1; j <= 30; j++)
cout <<’ 7 //EEEREMTE305]
for (int j =1; j<=7-2x%1 ;jtt)
cout <K 'K ;
cout << endl;
}

return O:
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#include <iostream>
using namespace std;
int main() {
for (int n = 100; n <= 200; nt+t+) {
if (n% 3 !=0)
cout << n;

J

return 0:
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#include <iostream>
using namespace std;

int main() {
int i =0, j =0, n;
cout << “Enter some integers please (enter 0 to quit): ”
<< endl;
cin >> n;
while (n != 0) {
if mn>0) i+=1;
if n<0) j+=1;
cin >> n;
}
cout << “Count of positive integers: ” << i << endl;
cout << “Count of negative integers: ” << j << endl;
return O;

8888



break #¥ continue &9

breaki&f]

R E MIEIME D switchiBA] N Bk, 4k
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typedefidzo

N— BRI RE 7 s 4
B
typedef OCHIERMY #FrRMLE,;

typedef double Area, Volume;
typedef int Natural;

Natural 11, 12;:

Area a;

Volume v;
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P IER —enum

HERHEENRE
@ﬁﬁk?*"ﬂliﬁ%’éﬂﬂ

MESSREL I 7= B

enum MZEFEY

GlpaE

enum Weekday

{SUN, MON, TUE, WED, THU, FRI, SAT};

fHE——FZE R,

7%=

Wil

(R EEHYER] ;
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P IER —enum

S IR = v A R
3l MM A TR L =T, AREXTEANIRAE . B,
X AEEE. SUN = 0:
FK
35

ML BEABOME, BENMKOUN:
0,1,2,......5

B AT PAFE 75 B 547 48 e S U s MR, 40
enum Weekday {SUN=7, MON=1, TUE, WED, THU, FRT, SAT} ;
MEE AT LT R R 5

EAE A RS E IR MZE AT, TG BER AU
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#include <iostream>
using namespace std;

enum GameResult {WIN, LOSE, TIE, CANCEL};
int main() {

GameResult result;

enum GameResult omit = CANCEL;

for (int count = WIN; count <= CANCEL:; count++) {
result = GameResult (count) ;

if (result == omit)
cout << “The game was cancelled” << endl;
else {

cout << ”“The game was played ”;
if (result == WIN)
cout << “and we won!”;
if (result == LOSE)
cout << “and we lost.”;
cout << endl;
}
}

return 0;
} 9494



BTG R
The game was played and we won!

The game was played and we lost.

The game was played

The game was cancelled
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struct Student {
int num;

string name;
char gender;
int age;

float score;
string addr;
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#include <iostream>

#include <iomanip>

#include <string>

using namespace std;

struct Student { //2A{EEEME
int num;//%%

string name;//#4 BTG R
char gender;//t3) 97001 Lin Lin F 19

int age;// ¥
} stu = { 97001, “Lin Lin”, ’F’, 19 };
int main() {

cout << setw(7) << stu.num << setw(20) << stu.name
<< setw(3) <K stu.sex <K setw(3) <K stu.age;

return 0;:

J
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int a, b
int main()

CHRIH,

att; incl Ox80495f8“: ?
g, | —

b incl 0x80495f#

return O:
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10111111,10000000,00000000,00000000
fERE Nintf . -1,082,130,432
B AunsignedZy: 3,212,836,864
R Nfloatl: -1.0
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iInt a=-1082130432;//10111111 10000000 00000000 00000000

unsigned b=3212836864,//10111111 10000000 00000000
00000000

a++;// 10111111 10000000 00000000 00000001, Hi-1 082 130
431

b++;//10111111 10000000 00000000 00000001, RI3 212 836
865

aflbISHIAN ], EAH R34 R 515 2UAH [F] 1 2kl 45 R
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int a LD
short b;
char c;

int-main() {  inctJ6x80495r8
- att; | s incw 0x80495fc
bt inct 0x80495fe

return 0; Lo
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int a, b, ¢, d;
int e:
int main() {

———— ——————————

______________

e=(a+hb) * (c-d;
return 0;

fEALFE N\ Hi11:0x80495d8H

mov1l
mov1l
mov1l
mov1l

“$0x4, 0x8049548
$0x2, 0x80495dc
$0x1, 0x80495e0
$0xa, 0x80495e4

0x80495d8:
0x80495dc:

0x80495€0:
0x80495€e4:
0x80495€8:
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int a, b, ¢, d; \ AT o
int e;
int main() mov  0x80495dc, %eax
a=4; mov 0x80495d8, %ecx
b = 2; ™ add %eax, becx
c = mov 0x80495e4, %edx
"ﬁ;f_ ____________________________ 1110} 0x80495e0, %eax
EL__e___=_____________________________: ™ sub %edx, %eax
return O; imul  %ecx, %eax
} 0x80495d8: aAxE mov //1%eax,Ox8O495e8

0x80495dc: bAZ

0x80495e0: cA%
0x80495¢4: d73F ix € (eax * eax) HJfK32

0x80495e8: eAT & 112




NMNEFE IR

FEANF

CH++HES MR . AL IERAFRE .
BRI RN S . BVE R AN i 45

CANMEN DS &/ TE it
EH|H) H b
EIRC++HiE 5 W TR AR N3 7

NFEEETR

RS 5 T B HORE P B

118



